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Elimination

Solve each system by elimination.

1)  

 

8

  

x − 5

  

y = −11

 

−8

  

x + 4

  

y = 12
2)  

 

−8

  

x − 6

  

y = 4

 

10

  

x + 6

  

y = −20

3)  

 

−3

  

x + 5

  

y = −27

 

7

  

x − 5

  

y = 3
4)  

 

−2

  

x − 2

  

y = 16

 

−3

  

x + 2

  

y = −6

-1-



©r W2u0n103c BKKupthav tSkozfftMwQa7rFep BLZLGCu.F Z YAglDl2 Sryi0gyhAtNsm DrkeCscehrtvnegdU.v t vM5agd6ev Gwei0tIh4 sI Kntf4iFnoi4tVeZ zAxlZguebbrrfa6 j16.q Worksheet by Kuta Software LLC

5)  

 

9

  

x − 9

  

y = 0

 

4

  

x − 9

  

y = −10
6)  

 

7

  

x − 10

  

y = −30

 

7

  

x − 2

  

y = −6

7)  

 

−3

  

x + 5

  

y = 12

 

5

  

x + 5

  

y = 20
8)  

 

−8

  

x − 5

  

y = −15

 

9

  

x − 5

  

y = −15

-2-



©Q d2i0v1X3L cKzuetbaB zS6oifZtHwzaMrYeg hL2LyCW.9 Q 4AZl0lA zrgiWgChTtYsv Lr6eTsyeArmvteVdZ.w p eMhaJdBeP 9wOiOtYhf eI Kn4f3iInHiZt7ea wAYlxgaewb8rYaI I1h.q Worksheet by Kuta Software LLC

9)  

 

−8

  

x − 12

  

y = −16

 

−9

  

x − 6

  

y = −18
10)  

 

−

  

x + 6

  

y = 20

 

−10

  

x + 2

  

y = 26

11)  

 

−7

  

x − 3

  

y = −13

 

−14

  

x − 8

  

y = −16
12)  

 

−12

  

x + 6

  

y = −6

 

6

  

x + 8

  

y = −8

-3-



©U j2t0a113p pKLudt5aF SSKoFf6t4w9adrkeo IL3LMCY.J w 0AWl6l8 krGirgFh6twsk 5rzelsCejrzvme8de.8 u lMRaldoeh nwCiwt7h4 fI OnbfViznWiotneB GAKlPgIelbirOay I1b.R Worksheet by Kuta Software LLC

13)  

 

8

  

x + 2

  

y = −30

 

7

  

x − 3

  

y = −12
14)  

 

10

  

x + 7

  

y = −19

 

4

  

x − 2

  

y = 26

15)  

 

−9

  

x − 6

  

y = −15

 

−10

  

x − 9

  

y = −5
16)  

 

7

  

x + 2

  

y = −15

 

3

  

x − 5

  

y = 17

-4-



©D b2N0R1v3l lKau6t9aA rSzoEfMtbwQaNrqet VLLLBCh.4 G tAVl6lD irkijgBhqtzsS Ir6ewsyejrnvDecdS.p o hMWacdDec BwriutahQ TI cnef8i7nRiJt7eA ZAylggVenbJrYaG J1X.3 Worksheet by Kuta Software LLC-5-

Answers to Elimination (ID: 1)

1)  (−2, −1) 2)  (−8, 10) 3)  (−6, −9) 4)  (−2, −6)
5)  (2, 2) 6)  (0, 3) 7)  (1, 3) 8)  (0, 3)
9)  (2, 0) 10)  (−2, 3) 11)  (4, −5) 12)  (0, −1)
13)  (−3, −3) 14)  (3, −7) 15)  (5, −5) 16)  (−1, −4)


